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201449 204 LB A=A
EAM AZXAAD
M HERIYGU(AZ =AM
Sel: o2y (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ATE N D} 5,406,798 3,624,690 1,782,108
= 2,623
& 360,000
| 152,588
< 5,026
s 4,886,561
HY2IZH (AEZ=4HDH) 178,656 169,945 8,711
ol 2d | 70,308 59,417 10,891
ol Al 70,308 59,417 10,891
101 14 bl 67,308 56,417 10,891
01 2 56,337 46,817 9,520
OANZ2RY FHZ(13Y) 14,427
— 5= 11,3643 x 1 x10A| 2k 128 1,364
— 6= 9,692 5 *10Al 2tx 128 5,816
—7= 8,754 6 x10Al 2tx 123 6,303
— 8= 7,860& *1H x10A| 2tx12& 944
Ooxzuz=e+¢ 8,955% 13 *30Al 2t+ 123 41,910
02 JIEH R 2 2 10,971 9,600 1,371
OFJAZ=(2Y) 6,963
— A2 (FUZ)
7,252 «2F *10Al 2tx 128 1,741
—ZUZRE 7,252 #2H «30A] 2t <12 5,222
OAYA (2=, 19) 4,008
—ANZ2AZ 2L (FHZ)
8,348 1H +10Al 2tx 12 1,002
—=U2RE 8,3483 *1H »30Al 2tx 128 3,006
203 PR =&l 3,000 3,000 0
04 FN2ELSZ=TH| 3,000 3,000 0
ORN2Y 2= 250,000 12& 3,000
JlEZ3l 108,348 110,528 22,180
JlE2&l 108,348 110,528 22,180
201 2et2 Y| 80,758 84,858 £ 4,100
01 At 2t 2l 80,758 84,858 24,100
Ogdt=EH| SHAA 18,018
O=&Hl SUA & 14,240
O2g=2(2,=%) 48,500
— o= 50,000& 2% «120 12,000
— =35 50,000 *2H *3652 36,500
202 oddl 27,590 25,670 1,920
01 = LH o4 1l 27,590 25,670 1,920
O30 (&) 18,950
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[ia 4,641,387
s ds & X& 1,660,226 1,902,602 A 242,376
23 M=sts XA 367,840 0 367,840
201 L2l 7,000 0 7,000
01 At 22l 7,000 0 7,000
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Q0S8 AHUD U 240103 2
1,500, 000 *1CH 1,500
OAXZHE w=X E2 ML H=
5,000& +1,000 5,000
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Ok &9 MsUs &t X&
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307 21201 A 357,000 0 357,000
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OF&FC 2014210 &0 I A& 100,000
OZ&FC R4E2"™ 2l N 5,000
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= s20s 70,000 0 70,000

- 293 -



2M A=A
FM: HsdE 84
Sel: M T2 2 A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 70,000 0 70,000
04 RQIZIHAIE RS 70,000 0 70,000
OHM13al Hets T 82 =S8 W s+
Chal 70,000
d=2 BHAZ Hal 280,000 0 280,000
307 glz2tol & 280,000 0 280,000
04 RIZHHAIE RS 280,000 0 280,000
OHM4el 8= s BHAZ 82 U3 200,000
O&= 51 HEZ U3 80,000
S A NSHE 80,000 0 80,000
307 21201 A 80,000 0 80,000
04 RIZIHAIE X S 80,000 0 80,000
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L2EHEUHI S XX 62,380 56,680 5,700
201 et 1,820 0 1,820
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23 =g S € HXord
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203 € R F&d| 25,000 25,000 0
03 AIEH =X 2 F XY 25,000 25,000 0
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301 et A= 720 720 0
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—ATES g2 717 2L (SH,otAH)
2 AlE I 300,000& =23l 600
—AXES EF=J] EH wiAbl
27,5003 «7CH *23] 385
—ALES 2S83FL(E73S)
200,000 *43| 800
—AXES I 283 (Hotg ¢ dws
s)7¢ 500,000& *23l 1,000
—ALES 22X ISHI(SAH,5HH)
100,000 *5H »23| 1,000
—AZEIS XZ5 I 2z ¥ ALX
s 7Y 2,000,000& »23l 4,000
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Ox=gx #3452 ZHFY 150, 000& »23] 300
401 AIEHI L 20 10,000 9,000 1,000
01 A& HI 10,000 9,000 1,000
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EAM AZXAAD
FM: HsdE 84
& SEHSAL 2 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O A& & HUIAY 2,000,000& *2CH 4,000
O=Z& I (A WA 6,000,000 *14 6,000
AS R ISSAMGL 22 70,162 47,285 22,877
2 2,623
< 1,021
s 66,518
PIMHMAA X T2 63,116 40,329 22,787
E24cH A 2e 63,116 40,329 22,787
201 Let24d] 11,750 9,009 2,741
01 At 22/l 9,950 9,009 941
Oget==EH| 8,900
—ASSHHEANLEEEE N
1,000& *5,0000H 5,000
—E24H 2= M 600& *3,00004 1,800
—LUHEES H2IANE EES HM=Z
600& 3,000 0K 1,800
—DHSAH Kot 2EAM 242
60,0003 x50 A~ 300
O Aztel =& =gHl 7,000 «3H 504 1,050
02 23224l 1,800 0 1,800
OAMHA 2| B3 300&+1,5008 43 1,800
202 odl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OSiMeis IRHs U 08
60,000 *3H 102 1,800
206 M= Hl 16,526 28,020 AN 11,494
01 M2 4l 16,526 28,020 A 11,494
OfMAL HMZIAE 2HO0INEFLY
7,000 1004 700
OREsAE MY dIsEXE
8,000 *31J A +12& 2,976
ORAMABAS MW==87 100,000 » 12+ A 100
OZANUEASTFY(HAISAE )
100,000& x5& 500
oxnds i 8717 5,000& 10074 500
OZE24HAd 2 SARSHE X (=X E
[LEEA S) 30,000 *60H & x4F 7,200
O%JA= SAFNA (2R, A, LTAN
15,000 * 1090 1700 2 2,550
OAXM g2 £FI| S 60,000 =104 600
OZANSHE BAE AX =l
5004 2~+10,000& 500
ORYEsSAE ZXE HMZE 150,000& =64 900
301 L2 LS 4,240 1,500 2,740
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